

## INCLUSION THEOREMS FOR GENERALISED NÖRLUND SUMMABILITY METHODS

J. R. NURCOMBE

*Hall Green College, Colebank Road, Hall Green, Birmingham, 28, England*

(Received 21 January 1994; accepted 25 March 1994)

This note concerns conditions for the generalised Nörlund summability method  $(N, p, q)$  to imply  $(N, u, q)$ . Other results of interest are obtained as corollaries. In particular, the problem of the ineffectiveness of the  $(N, q)$  method for  $q_n > 0$ , is completely solved.

### 1. INTRODUCTION

Let  $(p_n)$ ,  $(q_n)$  and  $(u_n)$  be sequences of real or complex numbers, with  $P_n = \sum_{v=0}^n p_v$ ,  $Q_n = \sum_{v=0}^n q_v$ ,  $r_n = \sum_{v=0}^n p_{n-v} q_v$ , and  $w_n = \sum_{v=0}^n u_{n-v} q_v$ . The sequence  $(s_n)$  is generalised Nörlund summable to  $s$ , and we write  $s_n \rightarrow s(N, p, q)$  if  $t_n \rightarrow s$  as  $n \rightarrow \infty$ , where  $t_n = \sum_{v=0}^n p_{n-v} q_v s_v / r_n$ , and  $r_n \neq 0$  for  $n \geq 0$ ,  $p_{-1} = 0$ , etc. When  $q_n = 1$  all  $n$ , the  $(N, p, q)$  method reduces to the Nörlund method  $(N, p)$ , and when  $p_n = 1$  all  $n$ , it reduces to the  $(\bar{N}, q)$  method. Necessary and sufficient conditions for the  $(N, p, q)$  method to be regular, that is for  $s_n \rightarrow s$  to imply  $s_n \rightarrow s(N, p, q)$ , are (i)  $p_{n-v} q_v / r_n \rightarrow 0$  for each integer  $v \geq 0$  as  $n \rightarrow \infty$ , and (ii)  $\sum_{v=0}^n |p_{n-v} q_v| < H |r_n|$ , where  $H$  is a positive number independent of  $n$ . In particular, necessary and sufficient conditions for  $(N, p)$  regularity, are  $p_n = o(P_n)$  and  $\sum_{v=0}^n |p_v| < H |P_n|$ . Given Nörlund methods  $(N, p)$  and  $(N, q)$  generated by the sequences  $(p_n)$  and  $(q_n)$  respectively, we formally define  $p(x) = \sum p_n x^n$ ,  $q(x) = \sum q_n x^n$  and  $k(x) = q(x)/p(x)$ , so that  $k(x) p(x) = q(x)$ . It follows that  $k(x) P(x) = Q(x)$ , where  $P(x) = \sum P_n x^n$  and  $Q(x) = \sum Q_n x^n$  (see Hardy<sup>4</sup>, § 4.3 for further details). We define the sequence of constants  $(c_n)$  formally by the identity  $\sum c_n x^n = (\sum p_n x^n)^{-1}$ ,  $c_{-1} = 0$ , and write  $c_n^{(1)} = \sum_{v=0}^n c_v$ . We write  $(p_n) \in \mathcal{M}$  if  $p_n > 0$ ,

$p_{n+1}/p_n \leq p_{n+2}/p_{n+1} \leq 1$  for all  $n \geq 0$ . The method  $A$  implies the method  $B$  if every sequence summable ( $A$ ) is summable ( $B$ ) to the same sum; that is, whenever  $s_n \rightarrow s(A)$ , then  $s_n \rightarrow s(B)$ . The methods are equivalent if each implies the other. A summability method is said to be ineffective if it is equivalent to convergence. We write  $\Delta r_n = r_n - r_{n-1}$ , and assume throughout that  $q_n \neq 0$  all  $n$ . By  $K$  we denote a positive constant, not necessarily the same at each occurrence.

The purpose of this note is to study the relation between the  $(N, p, q)$  and  $(N, u, q)$  summability methods. As corollaries of the main results, we obtain conditions for the ineffectiveness of the  $(N, p, q)$  method and solve completely the problem of the ineffectiveness of the  $(N, q)$  method for  $q_n > 0$ .

### 2. RELATIONS BETWEEN $(N, p, q)$ AND $(N, u, q)$ SUMMABILITY METHODS

*Theorem 1* — Let  $(p_n) \in \mathcal{M}$ ,  $q_n > 0$ ,  $u_n > 0$  and  $(u_n)$  be non-decreasing. Then  $(N, p, q)$  implies  $(N, u, q)$  if and only if

$$\sum_{v=0}^n u_{n-v} c_v = o(w_n). \tag{2.1}$$

For the proof of this result, we require the following lemmas.

*Lemma 1* (Das<sup>3</sup>, Theorem 2) — Let  $p_0, u_0$  and  $(q_n)$  be non-zero ( $n \geq 0$ ). Then  $(N, p, q)$  implies  $(N, u, q)$  if and only if  $(N, \Delta r)$  implies  $(N, \Delta w)$ .

*Remark* : The first sentence of Lemma 1 is omitted in Das<sup>3</sup>. However, this cannot be omitted without making the result false. I am indebted to Professor Kuttner for this observation.

*Lemma 2* (Borwein and Cass<sup>1</sup>, Proposition 1) — For  $(N, p)$  to imply  $(N, q)$ , it is necessary and sufficient that  $\sum_{v=0}^n |k_{n-v} P_v| = O(|Q_n|)$  and  $k_{n-v}/Q_n \rightarrow 0$  for each  $v$  as  $n \rightarrow \infty$ .

**PROOF OF THEOREM** : By Lemma 1,  $(N, p, q)$  implies  $(N, u, q)$  if and only if  $(N, \Delta r)$  implies  $(N, \Delta w)$ . Writing  $\sum_{v=0}^n l_{n-v} \Delta r_v = \Delta w_n$ , so that  $l_n = \sum_{v=0}^n \Delta u_{n-v} c_v^{(1)}$ , since  $\sum_{v=0}^n \left( \sum_{j=0}^{n-v} \Delta u_{n-v-j} c_j^{(1)} \sum_{m=0}^v \Delta p_{v-m} q_m \right) = \sum_{v=0}^n \Delta u_{n-v} q_v = \Delta w_n$ , it follows from Lemma 2 that  $(N, \Delta r)$  implies  $(N, \Delta w)$  if and only if  $\sum_{v=0}^n |l_{n-v} r_v| = O(|w_n|)$  and  $l_{n-v} = o(w_n)$  for each  $v$  as  $n \rightarrow \infty$ . Now  $\sum_{v=0}^n |l_{n-v} r_v| = \sum_{v=0}^n \left| \sum_{j=0}^{n-v} \Delta u_{n-v-j} c_j^{(1)} \right| |r_v|$

$$= \sum_{\nu=0}^n \sum_{j=0}^{n-\nu} \Delta u_{n-\nu-j} c_j^{(1)} r_\nu = \sum_{\nu=0}^n \sum_{j=0}^{n-\nu} u_{n-\nu-j} c_j r_\nu = \sum_{\nu=0}^n u_{n-\nu} q_\nu = w_n, \text{ since } c_j^{(1)} \geq 0$$

because  $(p_n) \in \mathcal{M}$  (see Hardy<sup>4</sup>, Theorem 22), and  $\Delta u_n \geq 0$ . The second condition requires that

$$\sum_{j=0}^{n-\nu} \Delta u_{n-\nu-j} c_j^{(1)} = o(w_n) \quad \dots (2.2)$$

for each  $\nu$  as  $n \rightarrow \infty$ . Since  $(w_n)$  is positive and non-decreasing, (2.2) if true for  $\nu = 0$ , is true for all  $\nu > 0$ , and hence may be written as  $\sum_{\nu=0}^n \Delta u_{n-\nu} c_\nu^{(1)} = o(w_n)$ , which is the same as (2.1).

*Corollary 1* — Let  $(p_n) \in \mathcal{M}$ ,  $q_n > 0$ ,  $u_n > 0$  and  $(u_n)$  be non-decreasing. Then  $(N, p, q)$  implies  $(N, u, q)$  if and only if (i) at least one of the sequences  $(P_n)$  or  $(Q_n)$  is unbounded, and (ii)  $(N, \Delta u, Q)$  is regular.

PROOF : From Theorem 1, we have (2.1), which can be written

$$\sum_{\nu=0}^n \Delta u_{n-\nu} Q_\nu (c_\nu^{(1)} / Q_\nu) = o \left( \sum_{\nu=0}^n \Delta u_{n-\nu} Q_\nu \right) \quad \dots (2.3)$$

Now  $(c_n^{(1)} / Q_n)$  is non-increasing and positive; so by (ii), (2.3) holds if and only if  $c_n^{(1)} = o(Q_n)$ . Then either  $c_n^{(1)} = o(1)$  (in which case  $P_n \rightarrow \infty$ ) or  $Q_n \rightarrow \infty$  (or both). If  $(Q_n)$  and  $(P_n)$  are both bounded, so that  $(c_n^{(1)})$  has a non-zero limit, then (2.3) cannot be satisfied. Also, from (2.3), as all terms are positive, then  $\Delta u_{n-\nu} = o(w_n)$  for each  $\nu$  as  $n \rightarrow \infty$ . Thus  $(N, \Delta u, Q)$  is regular.

*Remark* : The condition (i) of Corollary 1 may be replaced by  $R_n \rightarrow \infty$ . This follows from  $P_0 Q_n \leq \sum_{\nu=0}^n P_{n-\nu} q_\nu = R_n \leq P_n Q_n$  and  $Q_0 P_n \leq \sum_{\nu=0}^n p_{n-\nu} Q_\nu = R_n$ .

*Corollary 2* — Let  $(p_n) \in \mathcal{M}$  and  $q_n > 0$ . Then  $(N, p, q)$  implies  $(\bar{N}, q)$  if and only if at least one of the sequences  $(P_n)$  or  $(Q_n)$  is unbounded.

*Remark* : The sufficiency part of this corollary is Theorem 4 of Das<sup>2</sup>.

*Corollary 3* — Let  $(p_n)$  and  $(p'_n) \in \mathcal{M}$ ,  $q_n > 0$  and  $(R_n), (R'_n)$  be unbounded. Then the methods  $(N, p, q)$  and  $(N, p', q)$  are consistent.

Here,  $R'_n = \sum_{\nu=0}^n p'_{n-\nu} Q_\nu$ . Recall that two methods are consistent if they cannot sum the same sequence to different limits. The result follows from Corollary 2 by noting that if the methods did sum the same sequence to different limits, then so would the  $(\bar{N}, q)$  method.

*Corollary 4* — If  $q_n > 0$ , then  $(N, q)$  implies  $(N, Q)$  if and only if  $Q_n^{(1)} \rightarrow \infty$ .

*PROOF* : Put  $u_n = P_n$  in Theorem 1 and apply Lemma 1. Thus with  $(p_n) \in \mathcal{M}$ ,  $q_n > 0$ , then  $(N, \Delta r)$  implies  $(N, r)$  if and only if  $R_n \rightarrow \infty$ . Now put  $p_n = 1$  all  $n$ .

*Remark* : For an extension of the sufficiency half of this result to real sequences  $(q_n)$ , see Corollary 3 of Thorpe<sup>6</sup>.

*Corollary 5* — Let  $(p_n) \in \mathcal{M}$ , and  $(u_n)$  be positive and non-decreasing. Then  $(N, p)$  implies  $(N, u)$  if and only if  $\Delta u_n = o(U_n)$ .

*PROOF* : Put  $q_n = 1$  all  $n$ , in Corollary 1.

*Remark* : We may replace  $\Delta u_n = o(U_n)$  here by  $(N, u)$  regularity, since with the conditions of Corollary 5,  $\Delta u_n = o(U_n)$  is equivalent to  $u_n = o(U_n)$ .

*Corollary 6* — Let  $(p_n)$  be positive and non-decreasing. Then  $(C, k)$  implies  $(N, p)$  if and only if  $(N, p)$  is regular,  $0 \leq k \leq 1$ .

*Remarks* : The case  $k = 0$  of this result requires separate treatment. A special case of Corollary 6 is Hardy's<sup>4</sup> Theorem 20. For an extension of the latter to complex  $(p_n)$ , see Theorem 5 of Thorpe<sup>6</sup>.

*Corollary 7* — If  $(p_n) \in \mathcal{M}$ , then  $(N, p)$  implies  $(C, k)$ ,  $k \geq 1$ .

*Corollary 8* — Let  $(p_n)$  and  $(q_n)$  be positive sequences with  $(p_n)$  non-decreasing. Then  $(\bar{N}, q)$  implies  $(N, p, q)$  if and only if  $\Delta p_n = o(r_n)$ .

*Theorem 2* — Let  $(p_n)$  and  $(q_n)$  be positive sequences with  $(p_n)$  non-increasing. (i)  $(\bar{N}, q)$  implies  $(N, p, q)$  if and only if  $Q_n = O(r_n)$ . (ii) If  $q_n = o(Q_n)$ , then  $(\bar{N}, q)$  implies  $(N, p, q)$  if and only if  $(p_n)$  converges to a non-zero limit.

*PROOF* : (i) By Lemma 1,  $(\bar{N}, q)$  implies  $(N, p, q)$  if and only if  $(N, q)$  implies  $(N, \Delta r)$ . Writing  $\sum_{v=0}^n \Delta p_{n-v} q_v = \Delta r_n$ , it follows by Lemma 2 that  $(N, q)$  implies

$(N, \Delta r)$  if and only if  $\sum_{v=0}^n |\Delta p_{n-v}| Q_v = O(|r_n|)$  and  $\Delta p_{n-v} = o(r_n)$  for each  $v$  as

$n \rightarrow \infty$ . Since  $(p_n)$  is non-increasing,  $\sum_{v=0}^n |\Delta p_{n-v}| Q_v = \sum_{v=0}^n |p_{n-v-1} - p_{n-v}| Q_v = 2p_0 Q_n - r_n = O(|r_n|)$ , if and only if  $Q_n = O(r_n)$ . Also,  $(p_n)$  converges; so  $\Delta p_{n-v} \rightarrow 0$  as  $n \rightarrow \infty$ , for each  $v$ . As  $Q_n = O(r_n)$  is evidently meaningful, then we may discard the condition  $\Delta p_{n-v} = o(r_n)$ . (ii) From (i), a necessary and sufficient

condition is  $Q_n = O(r_n)$ . Now  $r_n/Q_n = \sum_{v=0}^n q_{n-v} p_v/Q_n$  has a non-zero limit if and only if  $(p_n)$  does, as  $(N, q)$  is regular. Since  $(p_n)$  converges, because it is non-increasing, the result follows.

*Remark* : Corollary 8 and Theorem 2 may be compared with Theorem 3 of Das<sup>3</sup> where  $(p_n)$  is monotone in either sense, but the conditions are only proved to be sufficient for  $(\bar{N}, q)$  to imply  $(N, p, q)$ .

*Corollary 9* — If  $(p_n)$  is positive and non-increasing, then  $(C, 1)$  implies  $(N, p)$  if and only if  $(p_n)$  converges to a non-zero limit.

### 3. EQUIVALENCE AND INEFFECTIVENESS OF THE $(\bar{N}, q)$ AND $(N, p, q)$ METHODS

The results of the last section lead to a number of additional corollaries of independent interest, and we collect these here. In particular, we can solve completely the problem of the ineffectiveness of the  $(\bar{N}, q)$  method for  $q_n > 0$ . We also obtain some conditions for the ineffectiveness of the  $(N, p, q)$  method and for the equivalence of the two methods.

*Corollary 10* — If  $q_n > 0$ , then  $s_n \rightarrow s(\bar{N}, q)$  implies  $s_n \rightarrow s$  if and only if  $Q_n = O(q_n)$ .

PROOF : Put  $p_0 = 1, p_n = 0 (n > 0)$ , in Theorem 2(i).

*Remark* : It follows from Corollary 10, that  $Q_n = O(q_n)$  is a necessary condition for the  $(\bar{N}, q)$  method to be ineffective. Also, when  $q_n > 0$ , it is known that the  $(\bar{N}, q)$  method is regular if and only if  $Q_n \rightarrow \infty$ . Now it is easy to see that if  $Q_n = O(q_n)$ , then  $Q_n \rightarrow \infty$ . Thus if  $Q_n = O(q_n)$ , then  $(\bar{N}, q)$  is regular. Combining this with the sufficiency half of Corollary 10 (compare Hardy<sup>4</sup>, Theorem 15), we have that if  $Q_n = O(q_n)$ , then  $(\bar{N}, q)$  is equivalent to convergence. Collecting these results together, gives :

*Corollary 11* — If  $q_n > 0$ , then the  $(\bar{N}, q)$  method is ineffective if and only if  $Q_n = O(q_n)$ .

The next three results give conditions for the equivalence of the  $(\bar{N}, q)$  and  $(N, p, q)$  methods.

*Corollary 12* — Let  $(p_n) \in \mathcal{M}$ , and  $q_n > 0$ . Then  $(N, p, q)$  is equivalent to  $(\bar{N}, q)$  if and only if (i)  $Q_n = O(r_n)$  and (ii) at least one of  $(P_n)$  or  $(Q_n)$  is unbounded.

PROOF : From Corollary 2 and Theorem 2(i).

*Corollary 13* — Let  $(p_n) \in \mathcal{M}$ ,  $q_n > 0$  and  $q_n = o(Q_n)$ . Then  $(N, p, q)$  is equivalent to  $(\bar{N}, q)$  if and only if  $(p_n)$  converges to a non-zero limit.

PROOF : The necessity of the condition follows from Theorem 2(ii). For sufficiency,  $P_n \rightarrow \infty$  and  $r_n \geq p_n Q_n$ , so  $Q_n = O(r_n)$ . Now use Corollary 12.

*Corollary 14* — Let  $(p_n) \in \mathcal{M}$ ,  $(P_n)$  converge and  $(q_n)$  be positive and non-decreasing. Then  $(N, p, q)$  is equivalent to  $(\bar{N}, q)$  if and only if  $Q_n = O(q_n)$ .

PROOF : Plainly,  $Q_n = O(q_n)$  implies  $Q_n = O(r_n)$ , and since  $r_n \leq q_n P_n \leq Kq_n$ , then  $Q_n = O(r_n)$  implies  $Q_n = O(q_n)$ . Now use Corollary 12.

Concerning  $(N, p, q)$  ineffectiveness, Das<sup>3</sup> says that it can be deduced from his Theorem 2(d) combined with Theorem 15 of Hardy<sup>4</sup>. This seems to be impossible. For the former result requires  $(N, q)$  to be regular, a necessary condition for which is  $q_n = o(Q_n)$ , while the latter requires  $Q_n = O(q_n)$ , as indicated above. As these conditions are mutually exclusive, no result can be obtained. However, as shown in Corollary 9 of Nurcombe<sup>5</sup>, the assumption of  $(N, q)$  regularity in Theorem 2(d) of Das<sup>3</sup> is unnecessary, and a result on  $(N, p, q)$  ineffectiveness can be obtained as follows :

*Corollary 15* — Let  $(N; \Delta r)$  be regular,  $\sum |c_n^{(1)}|$  and  $\sum |\Delta p_n|$  converge,  $q_n > 0$  and  $Q_n = O(q_n)$ . Then  $(N, p, q)$  is ineffective.

*Theorem 3* — Let  $(p_n) \in \mathcal{M}$ , and  $q_n > 0$ . Then  $(N, p, q)$  is ineffective if and only if  $p_n = o(q_n)$  and  $r_n = O(q_n)$ .

PROOF : A necessary and sufficient condition for  $(N, p, q)$  regularity is  $p_{n-v} = o(r_n)$  for each  $v$  as  $n \rightarrow \infty$  (see §1). If  $p_n = o(q_n)$ , then  $p_n = o(r_n)$ , and  $p_{n-v} = p_{n-v} p_n / p_n \leq K p_n = o(r_n)$ , since  $p_{n-v} / p_n \leq K$  for each  $v$ , as  $(p_n) \in \mathcal{M}$ . Necessary and sufficient conditions for  $(N, p, q)$  to imply convergence are, by analogy with those for  $(N, p, q)$  regularity,  $\sum_{v=0}^n |c_{n-v} r_v| = O(|q_n|)$  and  $c_{n-v} = o(q_n)$  for each  $v$  as  $n \rightarrow \infty$ . Since  $(p_n) \in \mathcal{M}$ , then  $\sum_{v=0}^n |c_{n-v} r_v| = c_0 r_n - \sum_{v=0}^{n-1} c_{n-v} r_v = 2c_0 r_n - q_n = O(q_n)$  if and only if  $r_n = O(q_n)$ . Since  $(N, p, q)$  is regular, then  $c_{n-v} = o(r_n)$ , [see Nurcombe<sup>5</sup>, Corollary 2(a)], and as  $r_n = O(q_n)$ , then  $c_{n-v} = o(q_n)$ . Thus the conditions are sufficient for  $(N, p, q)$  ineffectiveness. Conversely, if  $(N, p, q)$  is ineffective, then  $r_n = O(q_n)$  and  $p_{n-v} = o(r_n)$ , as shown. When  $v = 0$ , we have  $p_n = o(r_n)$  implying  $p_n = o(q_n)$ , as required.

*Corollary 16* — Let  $(p_n) \in \mathcal{M}$ ,  $q_n > 0$  and  $(p_n)$  converge to a non-zero limit. Then  $(N, p, q)$  is ineffective if and only if  $Q_n = O(q_n)$ .

PROOF : In view of the inequalities  $p_n Q_n \leq r_n \leq p_0 Q_n$ , and  $(p_n)$  converging to a positive limit, it follows that  $r_n = O(q_n)$  and  $Q_n = O(q_n)$  are equivalent. Since the latter implies that  $q_n \rightarrow \infty$ , then  $p_n = o(q_n)$ , and the result now follows from Theorem 3.

*Corollary 17* — Let  $(p_n) \in \mathcal{M}$ ,  $q_n > 0$  and  $P_n \rightarrow \infty$ . Then  $(N, p, q)$  is ineffective if and only if  $r_n = O(q_n)$  and  $Q_n \rightarrow \infty$ .

PROOF : The sufficiency of the conditions follows from Theorem 5 of Nurcombe<sup>5</sup>. Conversely, if  $(N, p, q)$  is ineffective, then  $p_n = o(q_n)$  by Theorem 3. Now  $q_n / p_n \rightarrow \infty$ , so that  $Q_n \rightarrow \infty$ .

*Corollary 18* — Let  $(p_n) \in \mathcal{M}$ ,  $(P_n)$  converge and  $nq_n \geq K > 0$ . Then  $(N, p, q)$  is ineffective if and only if  $r_n = O(q_n)$ .

PROOF : Since  $nq_n \geq K > 0$ , then  $p_n/q_n \leq np_n/K = o(1)$ , as  $np_n = o(1)$  because  $\sum p_n$  is a convergent series of positive, non-increasing terms. The conclusion now follows from Theorem 3.

*Remark* : Examples are readily constructed to show that when  $(P_n)$  converges,  $Q_n \rightarrow \infty$  is not a necessary condition for  $(N, p, q)$  ineffectiveness.

Other results on  $(N, p, q)$  ineffectiveness can be found in Nurcombe<sup>5</sup>.

#### REFERENCES

1. D. Borwein and F. P. Cass, *Math. Zeitschrift* **103** (1968), 94-111.
2. G. Das, *Quart. J. Math. Oxford series* **17** (1966), 244-56.
3. G. Das, *Quart. J. Math. Oxford series* **19** (1968), 417-31.
4. G. H. Hardy, *Divergent Series* Oxford, 1949.
5. J. R. Nurcombe, *Analysis* **9** (1989), 347-56.
6. B. Thorpe, *J. London Math. Soc. (2)* **5** (1972), 519-25.